1. (5x—6)(4x + 3)= ANSHH 20x% - (2a + 1)x - 3b o]t}. o]ufj, A4
a, b O & a+b o] 27

@5 @10 ® 12 @ 18 ® 30

B ~

(5x — 6)(4x + 3) = 20x% — 9x — 18

=20x? - (2a+ 1)x—3b
Wt 2a+1 =9, 2a =8, a =4, -18 = -3b, b = 6 °|1L
a+b =10 °|t}.




2. (2x-3y)2-4(x=Ty)(3x+2y) & Aot 7S] gt A0 ax?+bxy+cy?
A, a+b+c 2 G2 T

® -25 @ -9 ® 9 @ 7 @121

(2x = 3y)? — 4(x = Ty)(3x + 2y)

= 4x? — 12xy + 9y? — 4(3x% — 19xy — 14y?)

= 4x% — 12xy + 9y% — 12x2 + 76xy + 56y>

= —8x2 + 64xy + 65y2

WA g+ b4 ¢ = -8 + 64 + 65 = 121 O[T},




7tz o] Aol7k 7x , M2 2] Zol7t 4x 1 AAG A 7tz ] dol=
3RHE S0l M2 9] Aol 1 ¥hE 3t o] o, AARE 9] |el
=7

® 20x2-5x-3 @ 20x>-5x+3 ® 28x%2+5x-3

@28x2—5x—3 ® 28x%2 +5x+3

(AAZF ) Wel) = (1) x (A1)
= (Tx+3)(4x-1)
=28x2+5x-3




4. 2032 & ANSHEY ThE B Y WelR A B L

@ (a+b)(a-b)=a®-b?
@(a+b)2:a2+2ab+b2

® m(a+b) = ma+ mb

@ (ax+ b)(cx+d) = acx® + (ad + bc)x + bd

® (a+b)(c+d)=ac+ bc+ad+ bd

2032 — (200 + 3)2 O|B& ¢ — 200, b — 3 0|21 5}
(a+b)* = a® + 2ab + b* & ©]-&5HH Hr}.
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6. 2x>-Tx+3=(2x-A)Bx-C) € W, A+ B+C ] F& F35}H?

® 1 @ 2 ® 3 @1 @)

B

2x2 = Tx+3=(2x-1)(x - 3)
(2x-1)(x-3) = (2x-A)(Bx-C)°|B=
A=1,B=1 C=3
LJA+B+C=14+143=5




@ (x-y+1)(x-y-1) @ (xty+Dx+y-1)
@ (x—y+D(x+y-1) @ (x—y-1)(x+y-1)

® (x+y+1)(x-y-1)

X2 -2xy-1+y> =(x®-2xy+y?*) -1
= (x-y)?-1?
=@x-y+x-y-1)




& 0] 85}F0] 24 x 27 — 24 x 22 5 7FehS}HA| A4tste] et

24 X 27 —24% 22 =24% (27 -22) =24 x5 =120




9.

@ b] = (a+b)2 Do, [2x, —3y] - 2x [-x, 2] B 73] 547

@ 2x2_4xy—2y2 @ 2x2—4xy+2y2
©®)2x? - axy + 52 @ 2x° + dxy +)?

® 2x% + 4xy + 4y?

(2x - 3y)2 — 2 x (—x + 2y)?
= 4x% - 12xy + 9y — 2(x2 — dxy + 4?)
= 2x2 — 4xy +y?




10, (x+)° + (x-y)* & 2rs] gejsha?

O x2+y? @ x%+ 2xy +y?
(@)2x2+2y2 @ 2x% + xy + 2y?

® 2x% + 2xy + 2y?

(2 + 2xy + ¥2) + (22 = 2xy + y2) = 2x% + 22
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3 2
@O Zx% - 6xy+ =)?

% 32
7.2 12 =32
©) gx +2 xy+3y
2.2 2.2
® SR

2 A7shE?
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13. x of Ak o]2H4] 952 + Ax+ B = (ax+a+c—12) (bx —ac — 1) ©]
Hoka g, o] Alo] Al FAlo] Eli= 44 A, B, a, b, c °fl 5t
A+B+a+b+c 9 FE Fotodzh (B a, b>0)

> E

> =g 15

B

9x* + Ax+ B = (px+ q) (px + q) 21l 5}

p=a=b=3(a, b>0)
3+c—-12=-3c—-1

c=2,q=-7

x>+ Ax+B=(3x-17)?
A =-42

B =49

“A+B+a+b+c=-42+494+3+3+2
=15




14. thg B719] A1S 91528 oS o, W

=z},

@ 22 +4x+2=2(x+] )?

© #*-6x+9=(_ [-3)?

© 3x2+6x-9=3(x+3)(x-[_ )
® 6x2—x—-1=(2x-[  )Bx+1)
® 22-Tx+10=(x-5)(x—[_])

> =
D sl= G

9,0,6,62 25 101 @ 2 °Jth




FOd] (x-1)2-2(x-1) -8 & 2% - 9x -5 9] FF

@ x+1 @ 2x+1 @ x-1

(@)x—5 ® 2x-1

(x-1)2-2(x-1)-8 AN x-1=AE T}
A2 -24-8=(A+2)(A-4)
= (x—1+42)(x—1-4)
=(x+1)(x-5)
HH, 2x2 - 9x -5 = (2x + 1)(x - 5)
oA FFY A= x-5




16. x2+Ax+24 7} (x+a)(x+b) 2 AFEHE uf, A5 A o] A
2| 4gke] & Fotofet.

>

> Hehl o

~&B

ab =24 °|B& (q, b) & FHEH

(1,24),(2,12), (3,8),(4,6),(-1,-24), (-2,-12), (-3,-8),
(—4,-6) o]t

A=a+bolEE

g 14+24=25

ez -1-24=-25

25-25=0




(x=2a)(x +a)
=(a+b-2a)(a+b+a)
(b—a)(2a+b)




18, (x-4)(x-2)(x+1)(x+3)-25 = Ax* + Bx* + Cx> + Dx + EY
™, A+ B+ C+ D+ E°| gh& F5tH?

®-2 @-1 ©o0 @ 1 ® 2

B ~
(x=4)(x=2)(x+1)(x+3)-25
={(x-)(x+3)HHE-2)(x+1)} - 25
=(x*-x-12)(x*-x-2)-25
x?—x =12 x|¥sto] AElotH (1-12)(1—-2)—-25 = 1> - 14r-1
¥ —x=tE NYHH x* = 2x3 + ¥ - 14x2 + 14x -1 = x* -
2x% - 13x2 + 14x - 1
G2t A+ B+C+D+E=1-2-13+14-1=-1°|th




(2x = 3y) (3x +ay) & AZNAANA xy o] Al57F -7 A i, y* o] Al

19

(F4]) = 6x2 — 9xy + 2axy — 3ay?
= 6x% + (=9 + 2a)xy — 3ay?

xy & A7E -70|BR

94 2a=-7 La=1

LYY AFE 83a=-3x1=-3




20. TR 237 2o] Holr) ax-dxy—4y? 9 AAZIR ) Fele] Zol?

yol=3z*-4zy—4y*

@® 4x @SX ® 8x+4y
@ 4xy ® 8y

3x2 —dxy — 4y? = (3x + 2y)(x — 2y)
wrebA E89] Zdol= 2 x (3x + 2y + x — 2y) = 8x ©|Th




21. (x+y+2)?2-(x-y-2)2E& As-EdlctH?

@ 2x(y +2) @ 4x(y-2) ® x(3y+2)
(@)4x(y +2) ® 4y(x+2)

~&B

x+y+2=A, x—y-2=Bz=5IH
A?-B*>=(A+B)(A-B)
=x+y+2+x-y-2)(x+y+2-x+y+2)
= 2x(2y + 4) = 4x(y + 2)
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o7k 247 1@2:@ ) =

o] gt §9] AolE x, A2 FAF Y] g ¥o] Aolg y 2 & ),
X3y + xy® O & FSHH?

©)

[

@ 8

9 1
2_

()? =a%y? =22 - (V3)? =1

xy=1( x>0,y >0)

whbA | 3y + xy? = xy(x® + %) = 1 x4 = 4 o[t}

X

=2+V3,)*=

&




29
H7]
Q@ xy © x+y © x+2y
® 2x+3y @ x(x+2y) ® y(x+y)
ONGNC) )0, ®, @ ® 06,0 6
ONCRENG) ® 6,66

xy(2x + 3y) — xy(x +y) = xp{(2x + 3y) = (x + )}

= xy(x + 2y)




24. x*-5x% +49] R17F obd ALY

@ x-1 @ x+2 ® x+1 @ x-2 (@)x—4




25. x+y=15,x2-y2+5x-5y =120 € ©, x —y 9] & £slofzt,

> E:

> Hehl 6

(x=y)(x+y+5) =120
T x—y=6




